ListC2fp_out. cpp
//ListC2fp_out
//.NETR®include//
#include <iostream>
#include <iomanip>
#include <fstream>

// 7R 5 LRk EEE//
using namespace std;

/*Visual C++6. 0FH® include
#include <iostream. h>
#include <iomanip. h>
#}nclude {fstream. h>

*

//TR s34 TEE//
int ceil (int a, int b);
int floor(int a, int b);

?/%i%héﬂit@ﬁ%ﬁié&?%lhé:&//
*

const int GTTL = 1090000;
const int RTTL = 5000;
*

/
const int GTTL = 1100000;
const int RTTL = 5000;

char pb_name[65], unicost, csttypel[l17];

int rttl, cttl, ww;

int 1, Jj, k, nCount;

7nsigned int GICTTL]I[(RTTL / 32) + 11;

*

F—84 4 XDHE

CTTL * (RTTL / 32) + 1) x 4

RTTL = 5000, CTTL = 1090000 EF.

1709M * (5000 / 32 + 1) x4 =1.09M * 160 * 4 = 700MB
*

int ¢cst[CTTL + 10];
double rdensity;
int h[CTTL], rname[500] ;

/%

rname[JDKE &,
d?nsityODE'l'%’-'G%iﬂ'J'd’éo
*

//BEHIET _RTORE— FTEE//
int main() { ]
[/ 27 A IWEEHAH NETR//
ifstream fin;
fin.open(“ListC. txt”);
if(fin. fail () {
cerr << “Cannot open the ListC file.”;
return 1;
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ofstream fout;
fout. open (“fp_out. txt”) ;
if (fout. fail () {
cerr << “Cannot open the fp_out file.”;
return 2;

}

/¥ 7 A LA HVisual C++6. 0FF

ifstream fin("ListC. txt”);

if(1fin) {
cerr < “Cannot open the ListC file.”;
return 1;

ofstream fout ("fp_out. txt”);

i f (Ifout) {
cerr << “Cannot open the fp_out file.”;
return 2;

J
*/

[/ T—R A/
fin >> rttl >> cottl;
cout <<"rttl = "< rttl K" ottl = "< cttl <K endl;

/MU@tDOU?U
for( i =0 i <ceil(rttl , 32) ; i++)
for( J=0; j<octtl | j++)
G[j1[i] =0;

cout <<”0 clear completion of G[][]. << endl;

//EEREHROERS ) T//
int nCount = 0;

//ListCh & fp_out~DF—42 EHaEZE//
for(k =0 ; k < cttl ; k++) {
fin >> cst[k] > h[k];
nCount += h(k];
for(C i =0 ; i <h[k] ; i+ {
fin >> rnameli];
Glkl[(rname[i] - 1) / 32] = G[k][(rname[i] - 1)
/ 321 | (1U (f1 - ((rnameli]l - 1) % 32)));

[/ROEBAIE 1 ZRAEWNSHIR//
for( j = rttl ; j < (ceil (rttl , 32) * 32) ; j++){
GKI[j / 321 =G[KkI[j /321 | (AU K 31 - (J % 32)));

]

for ( j = rname[h[k] - 1] ; j < (ceil (rttl , 32) * 32) ; j++) {

_ GIKILG + 1) /321 = GIKILG + 1) /32] | (1U K
B1 = (% 32)))f

//rdensityMEt&E//
rdenS|ty = nCount / ((double) (rttl) * (double) (cttl));//H LM LIF=Erttl
* Ctt I DETETHTHMARY B Hbdht//

cout <<"Data change working completion from ListC to fp_out. ¥n"<< endl;
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//cst[1D 1 OB ADT-6HD&3I5TERK//
if(cttl % 10) {
fortk =0 ; k <10 - (cttl % 10) ; k++) {
cstlettl + k] = -1;

J

//pb_name® A F1//
cout << “Input pb_name with in 64 characters”<< endl;
cin >> pb_name;

//csttyped A H//
cout << “Input csttype with in 16 characters”<< endl;
cin >> csttype;

cout <<"An output working start to fp_out. “<< endl;

//fp_out. txt~DHAH//
fout << pb_name << "< rttl <7 K ottl K7 "KL esttype <7 K
rdensity << endl;

//cst[]HfJJ//
for( i =0 ; i <eceil(cttl , 10) ; i++){
fout Lest[(10 % i) + 0] <K 7 " <KLest[(0 * i) +1] K™ 7

K est[(10 * j) +2] KK 7 " Kest[(10 * ) +3] K7
oeost[(10 * i) +4] <7 " <KKLest[(10 * i) +5] K7
K est[(10 * i) +6] <7 " Kest[(10 * j) + 7] K" "
L eost[(10 * ) +8] <7 " <Kest[(10 x i) + 9] K
endl; |
//GII Tt H// |
for( j=0; j<octtl ; j+){
for( i =0 ; i <ceil(rttl , 32) ; i+ {
| fout << G[j][i] << endl;
}
cout <<"An output working end to fp_out. “<< endl;
[/ 74N a—X//
fin. close();
fout. close();
//7ara4 TEEDHERK//
int ceil (int a, int b){
if(a%b)

return (a / b) + 1;
return a / b;

]
int floor (int a, int b) {
} return a / b;
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